
Tolérances générales d'usinage :  ±0.25

Brut identique au palier.

j
ç
Ç
áÑá

Å
~
íáç

å
ë

j
ç
Ç
áÑá

Å
~
íáç

å
ë

j
ç
Ç
áÑá

Å
~
íáç

å
ë

j
ç
Ç
áÑá

Å
~
íáç

å
ë

PNLMRLMTPNLMRLMTPNLMRLMTPNLMRLMT

B

C

D

1 2

A

321 4

B

A

5 6

C

im=iÉë=cêÉêÉë=jçêÉ~ìim=iÉë=cêÉêÉë=jçêÉ~ìim=iÉë=cêÉêÉë=jçêÉ~ìim=iÉë=cêÉêÉë=jçêÉ~ì
bñÉÅìí~åíbñÉÅìí~åíbñÉÅìí~åíbñÉÅìí~åí

aÉëáÖå~íáçåaÉëáÖå~íáçåaÉëáÖå~íáçåaÉëáÖå~íáçå

^rqlJ`lkqolib^rqlJ`lkqolib^rqlJ`lkqolib^rqlJ`lkqolib kìãÉêç=éáÉÅÉkìãÉêç=éáÉÅÉkìãÉêç=éáÉÅÉkìãÉêç=éáÉÅÉ fåÇáÅÉfåÇáÅÉfåÇáÅÉfåÇáÅÉ cçäáçcçäáçcçäáçcçäáç

j
~
íá
É
êÉ

j
~
íá
É
êÉ

j
~
íá
É
êÉ

j
~
íá
É
êÉ

b
Å
Ü
É
ääÉ

b
Å
Ü
É
ääÉ

b
Å
Ü
É
ääÉ

b
Å
Ü
É
ääÉ

c
ç
êã

~
í

c
ç
êã

~
í

c
ç
êã

~
í

c
ç
êã

~
í

j~ëëÉ=Wj~ëëÉ=Wj~ëëÉ=Wj~ëëÉ=W

mmmm
mêçíçíóéÉ

NLNNLNNLNNLN

bkJ^t=OMNT

^Q^Q^Q^Q NWONWONWONWO
a~íÉa~íÉa~íÉa~íÉ

bq^ilk=jlkq^dbbq^ilk=jlkq^dbbq^ilk=jlkq^dbbq^ilk=jlkq^db

cr`epcr`epcr`epcr`ep

NPM=Äêìí

N
P
M
=Ä

êì
í

A

A

U
R

R
M

E

PS

COUPE A-A

=PN=

0.05

E

DP3


